Wi N LG IR 3K

- P BH S « Bt R EAREEAF AT F 3
AT 38 &5 R A E B B T
VRE2 7TH10H 2 3H
T bitj] T F= & pr | MEETRT HIROHIN
TRk 2 842 H 2 9H
Jii THER: 1780 Om
(W=10. 5m)
+T N= 120 FETUSET. Ne 3H:
UBUHIRE T (300 400) 1= 83.0m HETEATEE T (t=5cm) A=511. On2
T & B = H FAIACITE (600X 600, 1200~1400) L= 64. Om ﬂ%g@ﬁ%j:(t:&;m) A=236. On2
FEFIRAE T (¢ 600) [= 9.0m YRR T [= 65. Om
=i N 4k HEPERi AT [= 3.0m
| [=141. Om
AL B igjzz 7$§ Oﬂl\l 6 H (&) EEE%%EK%E%Wkiﬂ@JE
' BI10EE2 0 580
Z %Rl % E 4
Wo1T 5k — %A AAL G
T Al RS (B k) 19,380,000 H |&AKHIFRAis Bidk) 16,085,000 M
AL A (Bl ) 16,085,000 M | A # = % 1 [a] % FL = | 83.00%
B & N AL Al #% 17,371,800 M (NHEBZE 1,286,800HM)
A AL e £
(AfLBINE 2 4 ¥
JIEAL * = 4 ANFL A8 (Bik %) i =
1 VS -5l e i 16,085,000
1 et B anE 16,085,000
1 A RREAN H R 16,085,000
1 B AT 16,085,000 AN
1 MRStk o d o HigR 16,085,000
1 RS % 16,085,000
| ;g’;;fi/‘y:'f”‘/y'vﬁ7 16,085,000
1 HIRSRT2E 16,085,000 N2 A
R A TR s &)
1 BREAET 16,085,000




A L ik ES
NET S & 4 A FL 4 B (Bl &) 1 =
1 IR IR a% 16,085,000 RV
1 PRl Ty 7 Rt 16,085,000
1 ARt~ AXEHL 16,085,000
1 RSB 16,085,000
1 MRS = HER 16,085,000
1 AR = HET 16,085,000 RV
1 Earllb=2%) 16,085,000
1 MRt & 13 16,085,000
1 R Rt 16,085,000 RVANNE
1 ) TR AR T3 TR 16,085,000
1 iak:: 16,085,000
1 BHIRSHACGERZE 16,085,000
1 Bl 16,085,000 |¥%FL(L LA
1 ARREALD A X« 7 — b 16,085,000




